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(1) Figures to the right indicated full marks of the questions concerned.
(2) Show your workings clearly wherever needed.

‘A" and 'B' are partners in a firm sharing profits and losses in the ratio
of 7:5. They admit 'C', their managing clerk, as a partner with
1/6™ share in the future profits. 'C' is required to bring Rs.10000 as
his capital and Rs.48000 for goodwill for his 1/6 share in the profits,
which he acquires 1/24™ from A and 1/8" from B. The profit of the
firm for the first year was Rs.24000.
Give journal entries including those for distribution of profit.

Write short note on: Treatment of goodwill on retirement.

OR

The Balance Sheet of a firm of three partners sharing profits and
losses equally on 30" June, 1996 was as follows:

Liabilities Rs. Assets Rs.

Capitals: Goodwill 3000
Amar 7000 Machinery 10000
Bansi 5000 Debtors 4000
Kiran 13000 25000 | Stock 6400
Creditors 3000 | Cash 6600

Bills Payable 2000
30000 30000

Bansi retires on 1% July, 1996. On this date machinery was
valued at Rs.7000 and stock at Rs.7000. Amar and Kiran decided to
share the profits and losses in the ratio of 3:2 after Bansi's retirement.
Goodwill was revalued, but the partners decided not to change the
book value of goodwiill.

The retiring partner was paid Rs.6200 in cash in full settlement
of his dues. Give journal entries and prepare the Balance Sheet of
the firm after Bansi's retirement.

Write short note on: Problems arsing on admission of a partner.
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Bakula, Rasila, Premila and Ramila are partners sharing profits and [15]

losses in the ratio of 4:3:2:1 respectively. They decide to dissolve the
firm from 31% March, 2000 on which date their Balance Sheet was as

under:
Balance Sheet
Liabilities Rs. Assets Rs.

Capitals: Land and Building 70000
Bakula 110000 Machinery 10000
Premila 30000 140000 | Stock 40000
General Reserve 20000 | Debtors 45000
Profit-loss Alc 5000 | Less: B.D.R 2000 43000
Creditors 40000 | Cash Balance 7000
Bills Payable 10000 | Capital Alc:

Rasila 15000

Ramila 30000 45000

215000 215000

Land-Building Rs.45000, Machinery Rs.6000, Stock Rs.30000

and Debtors realised Rs.25000.

Creditors and Bills payable were paid 0.80 paisa in a rupee. A
liability of Rs.1500 not recorded in the books has to besettled for

Rs.1000. Realisation expenses amounted to Rs.4000.

Ramila becomes insolvent and received Rs.20100 from her

private property. Prepare the necessary Accounts.
Write short note on: Maximum Loss Method.

OR

[05]

‘A', 'B' and 'C' who were sharing profits and losses in the proportion of [15]

3:2:1 decided to dissolve the firm on 1-4-2000 when their state of

affairs was as follows:

Balance Sheet

Liabilities Rs. Assets Rs.
Creditors 14000 | Sundry Assets 45000
Capital Accounts: Cash 5000

A 20000
B 12000
C 4000 36000
50000 50000

Assets realised gradually as under in three installments: Rs.8000,
Rs.13000 and Rs.12000.
Prepare a statement showing piecemeal distribution of cash in

due order. (As per Surplus Capital Method)
Write note on: Steps to be taken on dissolution of partnership firm.
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Yogesh and Mahesh are equal partners, who decide to sell their
business to a newly started company on 1-4-2000. Their Balance Sheet
as under on that date:

Balance Sheet

Liabilities Rs. Assets Rs.
Capitals: Building 21000
Yogesh 20000 Machinery 12000
Mahesh 15000 35000 | Debtors 15000
Creditors 25000 | Stock 13000
Depreciation Cash on hand 2000
Fund for Building 3000

63000 63000

The company took over assets at the following prices:
Building Rs.22000, Machinery Rs.11000, Debtors Rs.14000,
Stock Rs.12000 and Goodwill Rs.4000.
The company agreed to pay Rs.20000 in shares of Rs.10 each and
the balance in cash. Shares were divided equally between the
partners and the balance was paid in cash.
Draft journal entries and set out necessary accounts in the books of
the firm.
Explain: Types of Shares and Share Capital.

OR

On 1% January Vikas Engineering Limited offered 10000 shares of
Rs.10 each to the public, payable as under:
On Application Rs.2 per share
On Allotment  Rs.2.50 per share
On First Call Rs.3 per share
On Second Call Rs.2.50 per share
By 15" February applications were received for 9000 shares.
Allotment was made on 1° March and all sums due on alltoment were
received on 15™ March. First call was made on 15" May and the call
money due was received in full with the exception of 1000
shares.

Prepare necessary Ledger Accounts and prepare the Balance
Sheet as on 1 August, 2006.
Why is a partnership firm converted into a joint stock company? Give
entries in the books of the firm on such conversion.

From the following information construct a B/S in horizontal form and
arrange assets and liabilities in order of liquidity.

Particular Rs. Particular Rs.

Capital 80000 | Investments 5000
Land and Building 50000 | Drawings 6000
Closing Stock 15000 | Net Profit 35000
Cash Balance 400 | Furniture 4000
Bank Balance 10000 | A's Loan 8100
Debtors 35000 | Bills Receivable 8000
Creditors 30000 | Bills Payable 4500
Plant & Machinery 8000
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Define Balance Sheet and explain the purposes of preparing it.
OR
Interpret the following account of Mr. Shah in the books of [20]
M/s. Patel & Co.
Mr. Shah's Account
Date Particular Rs. Date Particular Rs.
2000 2000
Jan 1 To Balance b/d 6000 | Jan 12 | ByBils Receivable Alc 4000
May 25 | " Sales Alc 5000 | Jan 12 | " Sales Retum Alc 1000
Sep. 8 " Bills payable Alc 2500 | Jan 12 | " Bank A/c 950
Sep. 8 " Interest Alc 500 | Jan 12 | " Discount Alc 50
Sep. 8 " Sales Alc 7000 | June 5 | " Bank Alc 2350
Dec. 12 | "Bils Receivable Alc 8000 | June 5 | " Discount Alc 150
Dec. 12 | " Interest Alc 400 | June 5 | " Bils Receivable Alc 2500
Dec. 15 | " Sales a/c 5000 | Sept. 8 | " Bank Alc 2000
Sept. 8 | " Bils Receivable Alc 8000
Dec.15 | " Bank Alc 8400
Dec.31 | " Balance Alc 5000
34400 34400
The following balance were recorded in the books of Niranjan Silk [20]
Mills Co. Ltd. on 31°%' March, 2006.
Debit Balance Rs. Credit Balance Rs.
Calls in Arrears (Eqg. shares) 10000 | 7.5% Pref. Share
Opening Stock 33300 | Capital 100000
Purchase 106500 | Equality Share Capital | 200000
Land and Building 170000 | Share Forfeiture Alc 4500
Plant and Machinery 115000 | Securities Premium 16500
Preliminary Expenses 6000 | Capital Reserve 55000
Furniture 32000 | General Reserve 90000
Investments 165700 | Provident Fund 13000
Loose Tools 12000 | 5% Debenture
Debtors 66000 | (Mortgage) 50000
Productive Wages 35200 | Sales 260000
Deb. Red. Fund Creditors 33000
Investments 20000 | P&L Account 5500
Salaries 57000 | Bank loan 25400
Rent, Rates and Taxes 20000 | Public Deposit 14600
Director's Fees 3500 | Income from
Postage & Telegrams 6500 | investments 9500
Provident Fund Debenture
Contribution 2500 | Redemption Fund 20000
Cash and Bank Balance 10800 | Reserve for Bad
Income Tax 28000 | Debts 3000
900000 900000
You are required to prepare Profit and Loss Account for the year
ended on 31% March, 2006 and Balance Sheet on that date after
taking into account the following additional information.
The stock on 31-3-2006 was Rs.95400.
Provide 5% Reserve for Bad Debts on Debtors.

Prepaid Rent amounted to Rs.2000.



(4) Provide Depreciation on Plant and Machinery at 2%, on Furniture at
5% and on Land and Building at 4%.
(5) Outstanding Expenses:
Productive Wages Rs.2500, Salaries Rs.3000, Rate and Taxes
Rs.1500.
(6) Transfer Rs.25000 to General Reserve.
(7) The directors of the company recommended 7.5% dividend on Pref.
Share Capital and 10% on Equity Share Capital.
(8) The Authorized Capital of the Company amount to Rs.500000.
OR
Q.5
(A) Prepare a Balance Sheet of a Company in accordance with [15]
Companies Act, 1956 with imaginary figures.
(B) What details are shown under the heading "Investments"? [05]
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